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L (X,Y) RN b LT 5. MTFOARERLEEV,

(a)
E(aX +0Y) =aE(X)+bE(Y)

(b)
var(aX + bY) = a® var(X) + 2abcov(X,Y) + b% var(Y)

(c)
cov(X,Y) = E(XY) — E(X)E(Y)



2. (X,Y) BHERENZ b LET 3.

(a) X &Y OMIMDEREZHFEZZI WV,

D) X Y3732, ZOLEDTORDPED DI ERLEZIW,

1.

E(XY) = E(X)E(Y)

ii.
cov(X,Y)=0

iii.
var(X +Y) = var(X) + var(Y)
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oo o0

E(aX 4+ bY) ax—l—by)fx y(z,y)dzdy

— 00

/00/ (axfxy(z,y)+byfxy(z,y))dedy

o0 v =00

:/ / axfxy(z,y) dmdy—i—/ / byfxy(z,y)dedy
—a/ / xfxymydxdy—i—b/ / yfxy(z,y)dedy

=aE(X)+bE(Y)
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(b)

var(aX +bY) := E ((aX +bY — E(aX +bY))?)
= E ([a(X — E(X)) + b(Y — E(Y))]?)
=E (a®*(X — E(X))* +2ab(X — E(X))(Y —E(Y)) + b*(Y — E(Y))?)
= a®E (X - B(X))?) + 2abE((X — E(X))(Y — E(Y))) + P E (Y —E(Y))?)
= a?var(X) + 2abcov(X,Y) + b var(Y)

(c)

cov(X,Y) =E(X —EX))(Y —E(Y)))

(XY - XE(Y) -EX)Y +E(X)E(®Y))
(XY) - E(X)E(Y) —E(X)E(Y) + E(X)E(Y)
( E(X)E(Y)
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2. (a) EEOD (z,y) 1Z2WT
Ixiy (@Y =y) = fx(v)

o X Y 3T nS.
) i (X,Y) 25z &

E(XY) = /_OO /_00 zyfxy(z,y)dedy

-/ O; / O;xyfx(l’)fy(y) dir dy
-/ ( | wreto) dx) ufv(y) dy

— /_OO zfx(z) dx/_oo yfy(y)dy
= E(X)E(Y)
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ii. ATFORER LD
cov(X,Y) = E(XY) — E(X)E(Y)
= E(X)E(Y) — E(X)E(Y)
=0
iii. ATRIORER L D

var(X +Y) = var(X) + 2cov(X,Y) + var(Y)
= var(X) + var(Y)



